Financial Management II

Homework 2
Due Start of Class Aug. 27
1)
Noise-R-us Inc., a publicly traded Sound Systems manufacturer is planning to invest $3 million in a project that is expected to produce EBIT of $1.3 million each year for three years.  Assume that the investment can be depreciated on a straight line basis over the 3 year period, and that the tax rate is 35%.  The firm’s cost of borrowing is 15%, and its cost of capital if it is completely equity financed is 20%.  The riskfree rate is 8%. 

a)
What is the NPV of the project if it is completely equity financed?

b)
Now assume that a local senator decides to help authorize a government loan, at zero flotation cost, for the entire $3 million at a rate of just 10%.  What is the Adjusted Present Value of the project when the subsidized financing choice is taken into consideration?

2)
Showboat Inc., a publicly traded gaming chain, is planning to invest $40 million towards the construction of a casino in a medium sized city that is a popular haunt for a large proportion of tourists.  This investment can be depreciated on a straight line basis over a 10 year period.  The investment is expected to generate $7 million in pretax earnings each year, for the next 10 years.  For Showboat, the flotation cost for raising debt capital is 5% of the issue proceeds.  This flotation fee can also be amortized on a straight line basis over the next 10 years.  The firm’s cost of borrowing is 10%, and its cost of capital if it is completely equity financed is 15%.  The relevant corporate tax rate is 35%.  The riskfree rate is 5%.  

a)
What is the NPV of the project if it were completely equity financed?

b)
What is the Adjusted present value (APV) of the project if Showboat uses all debt to raise the entire investment needed.  (You must assume that Showboat also raises the required flotation fee in the debt issue).

c)
What is the APV of the project if Showboat is offered the opportunity to raise the debt needed for the entire investment at a rate of 8% instead of at its true cost of borrowing of 10%?  (Ignore flotation costs in this calculation).

3)
Digital Equipment Corporation (DEC) is planning to expand into the internet navigator & browser business by acquiring Fetch Inc.  Unfortunately, the valuation of Fetch is difficult because Fetch is not publicly traded.  DEC’s target debt-equity ratio is 40% and its pre-tax borrowing rate is 12%.  DEC has identified Yahoo Inc., a publicly traded, internet navigation software firm for its pure-play computations.  Yahoo uses a debt to equity ratio of 50%, its equity beta (from Value line) is 2, and its pre-tax cost of borrowing is 15%.  The riskfree rate is 7% and the rate on the market portfolio is 15%.  Both firms face a corporate tax rate of 35%.

a)
What is Yahoo’s cost of equity capital?

b)
What would be Yahoo’s cost of capital had it been completely equity financed?  

c)
What is the cost of equity capital and the WACC that DEC should use for its analysis here?

4)
JJ Corp. a large conglomerate is thinking of expanding into the travel equipment business.  It has decided to adopt a debt-equity ratio of 30%, and their pre-tax borrowing rate is 18%.  They have identified SS Inc., which is currently in the travel equipment business for their pure-play computations.  SS uses a debt to equity ratio of 20%, its equity beta (from Value line) is 2, and its pre-tax cost of borrowing is 15%.  The riskfree rate is 7% and the rate on the market portfolio is 15%.  Both firms face a corporate tax rate of 35%.

a)
What is SS’s cost of equity capital?

b)
What would be SS’s cost of capital had it been completely equity financed?  

c)
Compute the cost of equity capital and the WACC of JJ Corp. 

5) 
   Read the Marriott Corporation Case and answer the attached questions. Please show all your work in an excel spreadsheet.
6) 
  Answer the Options Problems on page 4. If we didn’t cover any of the material necessary to answer any of these questions, I will let you know during class. 

Marriott Corporation: The Cost of Capital
Find the cost of capital for each of Marriott’s three divisions:
· Lodging

· Contract Services

· Restaurants

To do this, you will need to use Marriott’s target capital structure and the Hamada Equation.
Assume that all companies are in the 34% tax bracket

1. Unlever the betas of the pure-plays in the restaurant and lodging industries. Note: To some degree, this is a matter of opinion as to what is a pure-play in each of these industries. Make what you consider to be the best choices.
2. Calculate a weighted average asset beta for each of those industries by weighting each pure-play by its sales

3. Relever these asset betas using Marriott’s target capital structure so that you come up with the equity beta that Marriott should use for each of these two divisions
4. Use the equity betas you just calculated and information contained in the case to calculate the WACCs for the restaurant and lodging divisions of Marriott. Note: Again, there is some subjectivity as to what values you should use as your inputs into the CAPM. Be prepared to justify your choices
5. Using Marriott’s overall asset beta and the values you came up with for the restaurant and lodging divisions, determine the cost of capital for the contract services division. Consider that Marriott’s asset beta is a weighted average of the asset betas of its three divisions (weighted by sales)
Options Problems

1)
Which of the following options will have a higher price and why?

a)
A call option with an exercise price of $50 and 3 months to expiration, or a call option on the same underlying stock with the same time to expiration but with an exercise price of $53.

b)
A put option with an exercise price of $70 and 3 months to expiration, or a put option on the same underlying stock with the same time to expiration but with an exercise price of $78.

c)
A put option with an exercise price of $70 and 6 months to expiration, or a put option on the same underlying stock with the same exercise price but with 9 months to expiration.

2)
Suppose you own a call option with an exercise price of $50, and you also own a put option on the same stock with the same time to expiration with an exercise price of $45.

a)
Draw the payoff diagram for the call option on the expiration date.  (Hint:  Consider the payoffs from the option in the following three stock price ranges: (i) stock price greater than $50, (ii) stock price less than $50, and (iii) stock price equal to $50.)

b)
Draw the payoff diagram for the put option on the expiration date.  (Hint:  Consider the payoffs from the option in the following three stock price ranges: (i) stock price greater than $45, (ii) stock price less than $45, and (iii) stock price equal to $45.)

c)
Draw the payoff diagram for the payoff on the expiration date on a portfolio made up of one call and one put option.  (Hint:  Consider the payoffs from the portfolio in the following three stock price ranges: (i) stock price greater than $50, (ii) stock price less than $45, and (iii) stock price between $45 and $50.)

3)
Consider the following portfolio:


Write a call option on 100 shares of Intel stock with an exercise price of $65, and hold a put option on 100 shares of the same stock with the same time to expiration and the same exercise price.  Both options are European options.


Draw the payoff diagram for this portfolio on the expiration date.  {Hint:  Compute the total payoff from the portfolio on the expiration date assuming different stock prices.  You may want to consider the following stock price ranges: (i) stock price greater than $65, (ii) stock price at $65, and (iii) stock price lower than $65.  This will help you draw the payoff diagram.}

4)
Why is the price of a call option higher when the volatility of the underlying stock is higher?  Explain.
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